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fiE | XAFR | 90/1| 2 3 4 5 6 7 8 9 10 | 11 12 | &%t
ZAE |477.1|395.2 [923.1 [1065.0 |653.4 |772.7 [922.6 |770.8 |825.6 [906.2 [730.0 |707.5 [9,149.2
e Tt 33.6| 27.8| 63.8| 74.7| 45.9| 53.6 | 65.6 | 53.6 | 57.9| 63.8 | 51.6 | 49.0 | 640.9
7 f%iié%ﬂ-ﬁ%’# 14.3 | 11.9| 27.3| 31.9| 19.6 | 22.9| 28.0 | 22.9 | 24.8| 27.3 | 22.1 | 20.9 | 273.9
7 %Eﬁ'ﬁ-ﬁﬁ@ 430.5 |356.4 [819.9 |959.1 [588.6 |687.9 [842.1 {688.3 |743.5 |819.0 |663.0 |628.2 |8,226.5
3+ |478.4 |396.1 [911.0 |1065.7 |654.1 |764.4 |935.7 |764.8 |826.2 |910.1 |736.7 [698.1 |9,141.3
2 %7\% 1913.1 (2180.1 (2181.7 |2301.6 |1712.9 |1827.8 |1869.9 |2085.5 [2609.8 |1861.1 |1808.8 [2110.5 |24,462.8
hq! %5&%@ 1351.3 [1548.6 [1507.4 |1613.1 |1198.2 |1268.8 |1318.0 |1449.2 [1827.4 |1307.2 |1278.6 |1458.4 (17,126.2
;‘;?; ﬁ@%u-ﬁ&w 579.1 |663.6 |645.9 [691.2 |513.4 |543.7 |564.8 |621.0 [783.1 [560.1 |547.9 |624.9 |7,338.7
- BB %’1‘ 1930.4 12212.2 |2153.3 (2304.3 [1711.6 [1812.5 [1882.8 [2070.2 |2610.5 |1867.3 |1826.5 |2083.3 |24,464.9
ZAE  |604.4 |695.9 [490.2 |730.0 |407.5 |396.6 [522.2 |357.6 |323.1 |460.8 |348.8 |400.8 |5,737.9
P T 408.4 [473.0 |303.6 [470.4 [261.1 |248.4 |340.4 [233.5 |208.4 [303.6 [225.2 |254.3 (3,730.3
7 %@%U-E&@ 174.9 |202.6 |130.1 [201.5 {111.9 |106.4 [145.8 |100.0 | 89.3 [130.1 | 96.4 [108.9 [1,597.9
@ %ﬁ%’#-h\%& 30.3| 34.4| 38.7| 57.2| 34.0| 37.5| 42.4| 23.3| 25.3 | 27.9| 28.8 | 31.4| 411.2
= |613.6 |710.0 [472.4 |729.1 |407.0 |392.3 |528.6 |356.8 [323.0 |461.6 |350.4 [394.6 |5,739.4
& ZAE  |182.3 |212.9 [271.4 |237.9 |159.2 |227.0 [235.5 |199.0 |207.3 |225.5 |232.5 [236.3 |2,626.8
B || 181.6 [211.5 |266.7 |236.4 |158.4 [223.4 [234.4 |196.9 |204.9 |224.5 |231.3 |233.0 (2,603.0
< |oolmml-miry 18| 21| 26| 23| 15| 22| 23| 19| 20| 22| 23| 23| 255
7 |E 3 |183.4 |213.6 [269.3 |238.7 |159.9 |225.6 |236.7 |198.8 |206.9 |226.7 |233.6 [235.3 |2,628.5
ZAE  |175.5 |150.0 [245.9 |244.2 |183.3 |208.8 |267.9 |229.9 [215.5 |288.8 |209.0 [210.6 |2,629.4
< g R 71.6 | 61.1| 96.1 | 98.1| 73.1| 82.3 [109.3 | 91.3 | 86.5 [116.3 | 85.2 | 82.6 [1,053.5
3 ﬁEﬁﬁ-iﬂE@ 107.4 | 91.5 [144.1 |147.0 |109.6 |123.4 [163.9 |136.9 [129.6 |174.3 |127.8 [123.8 |1,579.3
£ 2 |179.0 [152.6 |240.2 |245.1 |182.7 [205.7 |273.2 [228.2 |216.1 |290.6 [213.0 |206.4 |2,632.8
ZAE  |359.4 |386.9 [412.6 |411.5 |346.4 [382.2 |411.8 |317.0 [370.4 |425.3 |375.9 |379.3 |4,578.7
7<k g | A 327.2 [354.7 [366.7 |370.1 |311.4 [340.2 |375.4 |282.7 [334.5 |383.4 |341.1 |336.9 |4,124.3
+ |5[B - 36.3 | 39.4 | 40.7 | 41.1| 34.5| 37.7| 41.7| 31.4 | 37.1| 42.6 | 37.8 | 37.4| 457.7
B =t [363.5 [394.1 |407.4 |411.2 |345.9 |377.9 |417.1 |314.1 |371.6 |426.0 [378.9 |374.3 |4,582.0
{»ﬁ ZAE 54.8 | 48.3| 81.5| 93.9| 51.7| 58.0 | 85.9| 75.6 | 66.3 | 82.0 | 61.8 | 59.7 | 819.5
"Af ;%i%/‘%u 54.8 | 48.9| 79.0| 95.8 | 52.4 | 60.7 | 85.2 | 74.3| 67.1| 82.7| 63.6 | 58.2 | 822.7
g B 54.8 | 48.9 | 79.0 | 95.8 | 52.4| 60.7 | 85.2 | 74.3 | 67.1 | 82.7| 63.6 | 58.2 | 822.7
= A = & &t |3,766.6 [4,069.3 | 4,606.4 | 5,084.1 | 3,514.4 |3,873.1 |4,315.8 [ 4,035.4 | 4,618.0 |4,249.7 | 3,766.8 | 4,104.7 | 50,004.3
M 5 = # 5t |3,803.1(4,127.5 [4,532.6 | 5,089.9 | 3,513.6 | 3,839.1 | 4,359.3 | 4,007.2 [4,621.4 | 4,265.0 | 3,802.7 | 4,050.2 | 50,011.6
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